O +o Q?Os't'
prY\‘(\Q QDMAN&( . QI s/ 2,02\ ; st\ﬁr\mﬁg

¥ CLU\\ = alan —DL
n-\ N\ N
Z.Zﬂ = (22 ) = 22 ,

d0 a. s o~ sploben .

\

Ky S AX & So\oben  because

n -\ 2 n
Ao Y ?5@.224> - .2

5
o (n) = 3oln-V) ~2a(n—7—\

&L\n\ -y



A nN—2-
" = %(n -2y

¢t = 2vr -2
(1’3‘( ‘\’z —/D

=2, \

(\au\\ = *1J

2 Y
aln) = 20l 42 aln-2) -26 (03)

Y\’)' \/\"'-S

(ﬂ = ZV“J « 20 =2
(> =U" ¢ 20-2

(3’ e -f'z ;D



U\A‘u\% % Oompuﬁx\,

v -1V 0, 6338 | 2. 4BIL

oln) = (-1 4 (0.63324) (2 q4g2)

T don ad wdidy  alD=6, b
&\N\ M UL Mo o 0&30\‘&

#5
ol = aln-4)
R
(b\ = |
S D B

alnyz |« G\}ﬂ e (Y



0\6039\ ; a(D)= O o al2): O,
6 (=D

\j(ﬁ\ S T ) R ALY PR
k.\




